

**TRAININGS CONDUCTED DURING 2022-23** 



## **State Institute of Public Administration and Rural Development**

## **DETAILS OF TRAINING COURSES CONDUCTED DURING THE YEAR 2022-23**

1. No. of trainings courses conducted during the year 2022-23	=	412 Nos.
2. No. of trainees attended trainings courses during the year 2021-22	=	12343 Nos.
3. No. of training days during the year 2022-23	=	1296 Nos.
4. No. of trainee days during the year 2022-23	=	38360 Nos.
5. No. of sponsoring Departments / Organisations	=	23 Nos.

## 4. List of Sponsoring Departments / Organisations

- i) Ministry of Rural Development, Govt. of India
- ii) Department of Personnel & Training, Govt. of India
- iii) National Commission for Women, New Delhi
- iv) National Institute of Social Development, Govt. of India
- v) Institute of Management in Government, Thiruvanantapuram
- vi) National Institute of Rural Development and Panchayati Raj- NERC, Govt. of India
- vii) National Institute of Disaster Management, Govt. of India



- viii) Department of Administrative Reforms and Public Grievances, Govt. of India
- ix) General Administration (Personnel & Training ) Department, Govt. of Tripura
- x) Forest Department (JICA Project)
- xi) Election Department, Govt. of Tripura
- xii) GA(AR) Department, Govt. of Tripura
- xiii) Economics & Statistics Department, Govt. of Tripura
- xiv) Home (Police) Department, Govt. of Tripura
- xv) Transport Department, Govt. of Tripura
- xvi) ICA Department, Govt. of Tripura
- xvii) Revenue Department, Govt. of Tripura
- xviii) Tax & Excise Department, Govt. of Tripura
- xix) Tripura Rural Livelihood Mission
- xx) Tribal Welfare Department, Govt. of Tripura
- xxi) PWD (DWS) Department, Govt. of Tripura
- xxii) State Institute of Public Administration and Rural Development, Tripura



## 5. Course Team : I. **Director General** i) Sri L. H. Darlong II. Director ii) Sri Apurba Roy III. Registrar Dr. Samit Roy Choudhury i) IV. **Deputy Director** Sri Sourav Das i) V. **Faculty Members** i) Dr. Elizabeth L. Sangliana Smt Arpita Chaudhuri ii) Smt Sudakhina Mitra iii) Dr. Rajib Malakar iv)

	TRAININGS CONDUCTED DURING 2022-23										
SI. No.	Training Code	Title of the course	Date of training	Training Days	No. of trainees	Course Director	Trainee Days				
	•	Sponsored by - Department of Personnel & Training, Govt. of India [Intensive Train	ning Programme]								
1	DOPT/22-23/ITP/001	Preparatory Meeting with all Departments	7th April, 2022	1	35	AC	35				
2	DOPT/22-23/ITP/003	ToT on Community Based Disaster Preparedness	6th~8th June 2022	3	31	ES	93				
3	DOPT/22-23/ITP/007	ToT on Community Based Disaster Preparedness	8th~10th June 2022	3	38	RM	114				
4	DOPT/22-23/ITP/026	ToT on Office Procedure & File Management System	4th ~ 6th Aug, 2022	3	17	SM	51				
	DOPT/22-23/ITP/060	ToT on Office Procedure & File Management System	4th ~ 6th Aug, 2022	3	15	RM/AC	45				
6 7	DOPT/22-23/ITP/071	ToT on Office Procedure & File Management System	4th ~ 6th Aug, 2022	3	6	ES RM/ES/AC	18 27				
	DOPT/22-23/ITP/038	ToT on Improving Transparency and Accountability in Government	18th ~ 22th July, 2022	3	5	/SM					
8	DOPT/22-23/ITP/134	ToT on Social Issues: Role of Government Servants	12th to 14th December, 2022	3	41	ES	123				
9	DOPT/22-23/ITP/002	Computer Application for Office Management Batch - 1	23rd ~ 25th May, 2022	3	20	AC	60				
10	DOPT/22-23/ITP/004	Computer Application for Office Management Batch - 2	2nd ~ 4th June, 2022	3	18	AC	54				
11	DOPT/22-23/ITP/005	Improving Transparency and Accountability in Government(Unakoti)	28th to 30th July, 2022	3	2	SM	6				
12	DOPT/22-23/ITP/006	Disaster Risk Reduction (Gomati District)	16th ~ 18th June, 2022	3	35	ES	105				
13 14	DOPT/22-23/ITP/008 DOPT/22-23/ITP/009	Disaster Risk Reduction (Sepahijala District) Disaster Risk Reduction (Sepahijala District)	16th ~ 18th June, 2022 16th ~ 18th June, 2022	3	40 38	RM ES	120 114				
	DOPT/22-23/ITP/009	Disaster Risk Reduction (Sepanijala District)	16th ~ 18th June, 2022	3	13	AC	39				
15	DOPT/22-23/ITP/010 DOPT/22-23/ITP/011	Disaster Risk Reduction (Dhalai District)	21st ~ 23rd June, 2022	3	35	ES	105				
	DOPT/22-23/ITP/011 DOPT/22-23/ITP/012			3	10	SM	30				
	DOPT/22-23/ITP/012 DOPT/22-23/ITP/013	Improving Transparency and Accountability in Government (Khowai District) Disaster Risk Reduction (Sepahijala District)	28th to 30th July, 2022 16th ~ 18th June, 2022	3	10	AC	48				
18 19	DOPT/22-23/ITP/013 DOPT/22-23/ITP/014			3	16	AC	48				
	DOPT/22-23/ITP/014 DOPT/22-23/ITP/015	Disaster Risk Reduction (South Tripura District)	21st ~ 23rd June, 2022	3	10	SM	48 30				
20		Improving Transparency and Accountability in Government (Dhalai District)	28th to 30th July, 2022	3			-				
	DOPT/22-23/ITP/016 DOPT/22-23/ITP/017	Disaster Risk Reduction (South District)	22th ~ 24th June, 2022		78	RM	234				
22		Improving Transparency and Accountability in Government - Sepahijala	1st ~ 3rd Aug, 2022	3	15	SM	45				
	DOPT/22-23/ITP/018	Disaster Risk Reduction (Khowai District)	21st ~ 23rd June, 2022	3	12	AC	36				
	DOPT/22-23/ITP/019	Disaster Risk Reduction (Khowai District)	21st ~ 23rd June, 2022	3	29 52	ES	87				
	DOPT/22-23/ITP/020	Disaster Risk Reduction (Dhalai District)	22th ~ 24th June, 2022	3	31	RM	156				
26 27	DOPT/22-23/ITP/021 DOPT/22-23/ITP/022	Disaster Risk Reduction (Khowai District)	22th ~ 24th June, 2022	3	31	RM ES	93 117				
27		Disaster Risk Reduction (South Tripura District)	21st ~ 23rd June, 2022 27th ~ 29th June, 2022	3	39 19	AC	57				
28	DOPT/22-23/ITP/023 DOPT/22-23/ITP/024	Computer Application for Office Management Batch - 3 Disaster Risk Reduction (West District)	27th ~ 29th June, 2022	3	35	ES	105				
30	DOPT/22-23/ITP/025			3	15	SM	45				
		Improving Transparency and Accountability in Government - West	1st ~ 3rd Aug, 2022	3	15	AC	45				
31	DOPT/22-23/ITP/027	Disaster Risk Reduction (West District)	27th ~ 29th June, 2022	3	28		45 84				
32 33	DOPT/22-23/ITP/028 DOPT/22-23/ITP/029	Disaster Risk Reduction (Unakoti District)	27th ~ 29th June, 2022 27th ~ 29th June, 2022	3	28 50	RM RM	84 150				
34	DOPT/22-23/ITP/029	Disaster Risk Reduction (North Tripura District) Office Procedure & File Management System- Gomati District	24th ~ 26th August, 2022	3	5	SM	150				
35	DOPT/22-23/ITP/030	Disaster Risk Reduction (Gomati)	27th ~ 29th June, 2022	3	48	RM	144				
36	DOPT/22-23/ITP/032	Disaster Risk Reduction (Unakoti District)	27th ~ 29th June, 2022	3	21	ES	63				
30	DOPT/22-23/ITP/032	Community Based Disaster Prepardness (WEST TRIPURA DISTRICT)	4th ~ 6th July, 2022	3	83	RM	249				
37	DOPT/22-23/ITP/034	Improving Transparency and Accountability in Government(Unakoti District)	28th to 30th July, 2022	3	22	RM	66				
39	DOPT/22-23/ITP/034	Improving Transparency and Accountability in Government - West	18th ~ 20th July, 2022	3	12	RM/ES	36				
	DOPT/22-23/ITP/035	Disaster Risk Reduction (Unakoti District)	27th ~ 29th June, 2022	3	15	AC	45				
	DOPT/22-23/ITP/037	Disaster Risk Reduction (North Tripura District)	27th ~ 29th June, 2022	3	39	ES	117				
	DOPT/22-23/ITP/039	Improving Transparency and Accountability in Government(Unakoti District)	28th ~ 30th July, 2022	3	22	ES	66				
	DOPT/22-23/ITP/040	Office Procedure & File Management System- South District	24th ~ 26th August, 2022	3	3	SM	9				
	DOPT/22-23/ITP/041	Disaster Risk Reduction (North Tripura District)	27th ~ 29th June, 2022	3	13	AC	39				
	DOPT/22-23/ITP/042	Disaster Risk Reduction (Dhalai)	27th ~ 29th June, 2022	3	13	AC	36				
	DOPT/22-23/ITP/042	Improving Transparency and Accountability in Government (North District)	29th 29th Julie, 2022 28th ~ 30th July, 2022	3	20	ES	60				
	DOPT/22-23/ITP/043	Improving Transparency and Accountability in Government (North District)	28th to 30th July, 2022	3	8	RM	24				
	DOPT/22-23/ITP/044	Office Procedure & File Management System- Dhalai District	1st ~ 3rd September, 2022	3	5	SM	15				
	DOPT/22-23/ITP/045	Improving Transparency and Accountability in Government (Dhalai District)	28th to 30th July, 2022	3	10	RM	30				
	DOPT/22-23/ITP/040	Computer Application for Office Management Batch - 4	30th June ~ 2nd July, 2022	3	10	AC	54				
	DOPT/22-23/ITP/047	Improving Transparency and Accountability in Government (Khowai District)	28th ~ 30th July, 2022	3	18	ES	54				
51		Intervents transparency and recountability in OUVERINEIN (NIOWALDISTICT)		, J	10	LJ	J4				
	DOPT/22-23/ITP/049	Improving Transparency and Accountability in Government (Gomati District)	28th to 30th July, 2022	3	31	RM	93				

54	DOPT/22-23/ITP/051	Information Tachnology for Office Management	Eth ~ 7th Sontombor 2022	3	14	SM	42
54	DOPT/22-23/ITP/051 DOPT/22-23/ITP/052	Information Technology for Office Management Improving Transparency and Accountability in Government (Dhalai District)	5th ~ 7th September, 2022 28th ~ 30th July, 2022	3	14	ES	42 51
56	DOPT/22-23/ITP/053	Improving Transparency and Accountability in Government (South District)	28th to 30th July, 2022	3	17	RM	45
57	DOPT/22-23/ITP/054	Improving Transparency and Accountability in Government (Gouth District)	28th ~ 30th July, 2022	3	37	ES	111
58	DOPT/22-23/ITP/054	Computer Application for Office Management Batch - 5	11th ~ 13th July, 2022	3	18	AC	54
59	DOPT/22-23/ITP/055	Office Procedure and File Management System (North District)	5th ~ 7th September, 2022	3	5	SM	15
60	DOPT/22-23/ITP/057	Computer Application for Office Management Batch - 6	14th ~ 16th July, 2022	3	22	AC	66
61	DOPT/22-23/ITP/058	Computer Application for Office Management Batch - 7	18th ~ 20th July, 2022	3	24	AC	72
62	DOPT/22-23/ITP/058	Improving Transparency and Accountability in Government - Sepahijala	1st ~ 3rd Aug, 2022	3	24	RM	72
63	DOPT/22-23/ITP/061	Office Procedure and File Management System (Sepahijala District)	7th ~ 9th September, 2022	3	3	SM	9
64	DOPT/22-23/ITP/061	Improving Transparency and Accountability in Government (South District)	28th ~ 30th July, 2022	3	29	ES	87
65	DOPT/22-23/ITP/063	Office Procedure and File Management System (West District)	7th ~ 9th September, 2022	3	10	SM	30
66	DOPT/22-23/ITP/064	Improving Transparency and Accountability in Government(Sepahijala District)	1st ~ 3rd Aug, 2022	3	28	ES	84
67	DOPT/22-23/ITP/065	Improving Transparency and Accountability in Government - West	1st ~ 3rd Aug, 2022	3	20	RM	72
68	DOPT/22-23/ITP/066	Office Procedure & File Management System- Gomati District	24th ~ 26th August, 2022	3	24	RM	84
69	DOPT/22-23/ITP/067	Office Procedure & File Management System- South District	24th ~ 26th August, 2022	3	67	RM	201
70	DOPT/22-23/ITP/068	Office Procedure & File Management System- Dhalai District	1st ~ 3rd September, 2022	3	35	RM	105
71	DOPT/22-23/ITP/069	Improving Transparency and Accountability in Government (Khowai District)	28th ~ 30th July, 2022	3	16	AC	48
72	DOPT/22-23/ITP/070	Improving Transparency and Accountability in Government (West District)	1st ~ 3rd Aug, 2022	3	10	ES	51
73	DOPT/22-23/ITP/072	Basic Computer Training (North District)	4th ~ 6th Aug, 2022	3	21	ES	63
74	DOPT/22-23/ITP/073	Improving Transparency and Accountability in Government (Gomati District)	28th ~ 30th July, 2022	3	16	AC	48
75	DOPT/22-23/ITP/074	Office Procedure & File Management System- Khowai District	1st ~ 3rd September, 2022	3	37	RM	111
76	DOPT/22-23/ITP/075	Improving Transparency and Accountability in Government (North,Unokoti)	28th ~ 30th July, 2022	3	29	AC	87
77	DOPT/22-23/ITP/076	Office Procedure and File Management System (Unakoti District)	5th ~ 7th September, 2022	3	20	RM	60
78	DOPT/22-23/ITP/077	Basic Computer Training (Unakoti District)	10th ~ 12th August, 2022	3	26	ES	78
79	DOPT/22-23/ITP/078	Basic Computer Training (Dhalai District)	17th ~ 19th August, 2022	3	28	ES	84
80	DOPT/22-23/ITP/079	Improving Transparency and Accountability in Government (Dhalai District)	28th ~ 30th July, 2022	3	15	AC	45
81	DOPT/22-23/ITP/080	Improving Transparency and Accountability in Government - Sepahijala	1st ~ 3rd Aug, 2022	3	15	AC	45
82	DOPT/22-23/ITP/082	Basic Computer Training (Khowai District)	23rd ~ 25th August, 2022	3	29	ES	87
83	DOPT/22-23/ITP/083	Office Procedure and File Management System (North District)	5th ~ 7th September, 2022	3	23	RM	72
84	DOPT/22-23/ITP/084	Office Procedure and File Management System (Sepahijala District)	7th to 9th September	3	34	RM	102
85	DOPT/22-23/ITP/085	Improving Transparency and Accountability in Government (South District)	28th ~ 30th July, 2022	3	13	AC	39
86	DOPT/22-23/ITP/086	Improving Transparency and Accountability in Government - West	1st ~ 3rd Aug, 2022	3	9	AC	27
87	DOPT/22-23/ITP/087	Office Procedure and File Management System (Gomati District)	24th ~ 26th August, 2022	3	38	ES	114
88	DOPT/22-23/ITP/088	Office Procedure & File Management System- Gomati & South District	24th ~ 26th August, 2022	3	18	AC	54
89	DOPT/22-23/ITP/089	Office Procedure and File Management System (West District)	7th to 9th September	3	29	RM	87
90	DOPT/22-23/ITP/093	Office Procedure and File Management System (South District)	24th ~ 26th August, 2022	3	36	ES	108
91	DOPT/22-23/ITP/095	Basic Computer Training (West District)	29th ~ 31st August, 2022	3	30	ES	90
92	DOPT/22-23/ITP/096	Office Procedure and File Management System (Khowai District)	1st ~ 3rd September, 2022	3	19	AC	57
93	DOPT/22-23/ITP/097	Office Procedure and File Management System (Dhalai District)	1st ~ 3rd September, 2022	3	16	AC	48
94	DOPT/22-23/ITP/101	Basic Computer Training (Sepahijala District)	1st ~ 3rd September, 2022	3	32	ES	96
95	DOPT/22-23/ITP/102	Office Procedure and File Management System (Khowai District)	1st ~ 3rd September, 2022	3	40	ES	120
96	DOPT/22-23/ITP/103	Office Procedure and File Management System (Dhalai District)	1st ~ 3rd September, 2022	3	37	ES	111
97	DOPT/22-23/ITP/104	Basic Computer Training (Gomati District)	6th ~ 8th September, 2022	3	27	ES	81
98	DOPT/22-23/ITP/105	Office Procedure and File Management System (North District)	5th ~ 7th September, 2022	3	34	ES	102
	DOPT/22-23/ITP/106	Office Procedure and File Management System (Unakoti District)	5th ~ 7th September, 2022	3	30	ES	90
	DOPT/22-23/ITP/107	Office Procedure and File Management System (Sepahijala District)	7th ~ 9th September, 2022	3	40	ES	120
	DOPT/22-23/ITP/108	Office Procedure and File Management System (West District)	7th ~ 9th September, 2022	3	43	ES	120
	DOPT/22-23/ITP/109	Office Procedure and File Management System (North District)	5th ~ 7th September, 2022	3	3	AC	9
	DOPT/22-23/ITP/110	Office Procedure and File Management System (Unakoti District)	5th ~ 7th September, 2022	3	16	AC	48
	DOPT/22-23/ITP/111	Office Procedure and File Management System (Sepahijala District)	7th ~ 9th September, 2022	3	20	AC	60
	DOPT/22-23/ITP/112	Office Procedure and File Management System (Sepanjala District)	7th ~ 9th September, 2022	3	20	AC	60
	DOPT/22-23/ITP/113	Training on PFMS	6th Sep, 2022	1	20	AC	22
	DOPT/22-23/ITP/114	Basic Computer Training (South District) Batch-VIII	12th ~ 14th September, 2022	3	30	ES	90
107	DOPT/22-23/ITP/114	Basic Computer Training (South District) Batch-IX	15th ~ 17th September, 2022	3	25	ES	90 75
108	DOPT/22-23/ITP/115	Basic Computer Training (North & South District) Batch-X Basic Computer Training (Unakoti & Dhalai District) Batch-X	20th ~ 22nd September, 2022	3	49	ES	147
	DOPT/22-23/ITP/110 DOPT/22-23/ITP/117	Basic Computer Training (Makoti & Dhalai District) Batch-X	26th ~ 28th September, 2022	3	49	ES	147
	DOPT/22-23/ITP/117	Basic Computer Training (Knowa) Bacth-XII	2011 2811 September, 2022 29 ~ 01st October, 2022	3	32	ES	96
	DOPT/22-23/ITP/118	Training on PFMS	26th Sep, 2022	1	28	AC	28
112	0011/22-23/117/113		2001 Jep, 2022	L 1	20	AL	20

113	DOPT/22-23/ITP/120	Training on DEMC	27th Son 2022	1	29	AC	29
115	DOPT/22-23/ITP/120 DOPT/22-23/ITP/121	Training on PFMS Basic Computer Training (Unakoti District) B-13	27th Sep, 2022 13th ~ 15th October, 2022	3	36	ES	108
	DOPT/22-23/ITP/122	Basic Computer Training (Dhalai District) B-13	18th ~ 20th October, 2022	3	30	ES	103
116	DOPT/22-23/ITP/123	Basic Computer Training (Khowai District) B-15	26th ~ 28th October, 2022	3	27	ES	81
117	DOPT/22-23/ITP/124	Basic Computer Training (West District) B-16	31st Oct ~ 2nd Nov, 2022	3	32	ES	96
118	DOPT/22-23/ITP/125	Basic Computer Training (Vest Bistrict) B-17	3rd ~ 5th November, 2022	3	35	ES	105
119	DOPT/22-23/ITP/126	Basic Computer Training (Gomati District) B-18	8th ~ 10th November, 2022	3	27	ES	81
120	DOPT/22-23/ITP/127	Basic Computer Training (South District) B-19	14th ~ 16th November, 2022	3	33	ES	99
121	DOPT/22-23/ITP/128	Basic Computer Training (North District) B-20	17th ~ 19th November, 2022	3	31	ES	93
122	DOPT/22-23/ITP/129	Basic Computer Training (Unakoti B-21)	22nd ~ 24th November, 2022	3	20	ES	60
	DOPT/22-23/ITP/130	Basic Computer Training (Dhalai B-22)	28th ~ 30th November, 2022	3	34	ES	102
	DOPT/22-23/ITP/131	Basic Computer Training (Khowai B-23)	1st ~ 3rd December, 2022	3	25	ES	75
125	DOPT/22-23/ITP/132	Basic Computer Training (West B-24)	6th to 8th December, 2022	3	25	ES	75
126	DOPT/22-23/ITP/133	Basic Computer Training (Sepahijala, Batch-25)	12th to 14th December, 2022	3	31	ES	93
127	DOPT/22-23/ITP/135	Basic Computer Training (Gomati, Batch-26)	15th to 17th December, 2022	3	23	ES	69
	DOPT/22-23/ITP/136	Social Issues: Role of Government Servants (Dhalai District)	15th to 17th December, 2022	3	89	ES	267
129	DOPT/22-23/ITP/137	Social Issues: Role of Government Servants (North District)	15th to 17th December, 2022	3	77	ES	231
130	DOPT/22-23/ITP/138	Social Issues: Role of Government Servants (Khowai District)	15th to 17th December, 2022	3	44	ES	132
131	DOPT/22-23/ITP/139	Social Issues: Role of Government Servants (Unakoti District)	15th to 17th December, 2022	3	42	ES	126
132	DOPT/22-23/ITP/140	Social Issues: Role of Government Servants (Khowai,North,Unakoti,Dhalai District)	15th to 17th December, 2022	3	20	AC	60
133	DOPT/22-23/ITP/141	Social Issues: Role of Government Servants (Unakoti District)	15th to 17th December, 2022	3	6	RM	18
134	DOPT/22-23/ITP/142	Social Issues: Role of Government Servants (Sepahijala District)	15th to 17th December, 2022	3	50	RM	150
135	DOPT/22-23/ITP/143	Social Issues: Role of Government Servants (Dhalai District)	15th to 17th December, 2022	3	14	SM	42
136	DOPT/22-23/ITP/144	Social Issues: Role of Government Servants (North District)	15th to 17th December, 2022	3	17	SM	51
137	DOPT/22-23/ITP/145	Social Issues: Role of Government Servants (Khowai District)	15th to 17th December, 2022	3	20	SM	60
138	DOPT/22-23/ITP/146	Social Issues: Role of Government Servants (Unakoti District)	15th to 17th December, 2022	3	10	SM	30
139	DOPT/22-23/ITP/147	Social Issues: Role Of Government servants (Sepahijala) District	19th ~ 21st December, 2022	3	21	SM	63
140	DOPT/22-23/ITP/148	Social Issues: Role Of Government servants (Gomati) District	19th ~ 21st December, 2022	3	16	SM	48
141	DOPT/22-23/ITP/149	Social Issues: Role Of Government servants (South) District	19th ~ 21st December, 2022	3	23	SM	69
142	DOPT/22-23/ITP/150	Social Issues: Role of Government Servants (West,Sepahijala,Gomati,South District)	19th to 21st December, 2022	3	36	AC	108
143	DOPT/22-23/ITP/151	Financial Management	1st ~ 3rd September, 2022	3	14	SM	42
144	DOPT/22-23/ITP/152	Social Issuses: Role of government servents (Khowai)	19th to 21th December 2022	3	44	RM	132
145	DOPT/22-23/ITP/153	Social Issuses : Role of government servents (Gomati)	19th to 21th December 2022	3	7	RM	21
146	DOPT/22-23/ITP/154	Social Issuses : Role of government servents (South)	19th to 21th December 2022	3	2	RM	6
147	DOPT/22-23/ITP/155	Social Issuses: Role of government servents (West)	19th to 21th December 2022	3	13	RM	39
148	DOPT/22-23/ITP/156	Social Issues: Role of Government Servants (West District)	19th to 21st December, 2022	3	52	ES	156
149	DOPT/22-23/ITP/157	Social Issues: Role of Government Servants (Sepahijala District)	19th to 21st December, 2022	3	98	ES	294
150	DOPT/22-23/ITP/158	Social Issues: Role of Government Servants (Gomati District)	19th to 21st December, 2022	3	41	ES	123
151	DOPT/22-23/ITP/159	Social Issues: Role of Government Servants (South District)	19th to 21st December, 2022	3	41	ES	123
	DOPT/22-23/ITP/160	Basic Computer Training (South, Batch-27)	21st to 23rd December, 2022	3	31	ES	93
153	DOPT/22-23/ITP/161	Basic Computer Training (North, Batch-28)	26th to 28th December, 2022	3	27	ES	81
154	DOPT/22-23/ITP/162	Basic Computer Training (Unakoti, Batch-29)	29th to 31st December, 2022	3	27	ES	81
155	DOPT/22-23/ITP/163	Improving Transparency and Accountability in Government(North)	29th to 30th July, 2022	3	1	SM	3
156	DOPT/22-23/ITP/164	Improving Transparency and Accountability in Government(Gomati)	29th to 30th July, 2022	3	1	SM	3
157	DOPT/22-23/ITP/165	Improving Transparency and Accountability in Government(South)	29th to 30th July, 2022	3	2	SM	6
		Sponsored by - Department of Personnel & Training, Govt. of India [State Category Training					
158	DOPT/22-23/SCP/01	Information Technology for Office Management Batch I	5th ~7th May, 2022	3	23	AC	69
	DOPT/22-23/SCP/02	Effective Noting and Drafting Batch - I	10th ~ 12th May, 2022	3	17	SM	51
	DOPT/22-23/SCP/03	IT for effectiive Management B-1	18th ~ 20th May, 2022	3	24	AC	72
	DOPT/22-23/SCP/04	Effective Noting and Drafting Batch-2	17th ~ 19th May, 2022	3	17	SM	51
162	DOPT/22-23/SCP/05	Participatory Community Forest Management	3rd ~ 5th November, 2022	3	30	RM	90
163	DOPT/22-23/SCP/06	Ensuring Development through Gender Lens	14th ~ 16th July, 2022	3	20	ES	60
164	DOPT/22-23/SCP/07	Decision Making for effective leadership	11th ~ 13th July, 2022	3	24	AC	72
165	DOPT/22-23/SCP/08	Workshop on E-Office	28th to 30th November,2022	3	15	SM	45
166	DOPT/22-23/SCP/09	School Safety I	4th ~ 6th July, 2022	3	15	ES	45
167	DOPT/22-23/SCP/10	Farm and Non-farm livelihood under MGNREGS-NRLM Batch - 2	30th June ~ 2nd July, 2022	3	26	RM	78
168	DOPT/22-23/SCP/11	Interpersonal effectiveness and Teambuilding	14th ~ 16th July, 2022	3	24	AC	72
169	DOPT/22-23/SCP/12	Good Governance Strategies for Rural Development Flagship Programme	22-24th June, 2022	3	31	RM	93
				•	•		

	/ / /			-			
	DOPT/22-23/SCP/13	Training on PFMS	11th ~ 13th July, 2022	3	31	AC	93
	DOPT/22-23/SCP/14	Administrative Matter for Rural Development Officials	7th to 9th December,2022	3	20	SM	60
	DOPT/22-23/SCP/15	Organic Farming & Certification	19th ~ 21st September, 2022	3	30	RM	90
	DOPT/22-23/SCP/16	Indian Sign Language	20th ~ 22nd July, 2022	3	21	ES	63
174	DOPT/22-23/SCP/17	Administrative Matters for Agricultural Officers	19th ~ 21st September, 2022	3	29	SM	87
175	DOPT/22-23/SCP/18	Fighting Drug Addiction Menace	11th ~ 13th July, 2022	3	22	ES	66
176	DOPT/22-23/SCP/19	Interpersonal Skills	10th ~ 12th August, 2022	3	35	SM	105
177	DOPT/22-23/SCP/20	Conflict Resolution In The Workplace	12th ~ 14th September	3	26	RM	78
178	DOPT/22-23/SCP/21	Development Programmes for SC, ST, OBC and Minorities	9th ~ 11th November, 2022	3	17	ES	51
179	DOPT/22-23/SCP/22	Strategies For Open Defecation Free Sustainability	27th ~ 29th October, 2022	3	25	RM	75
180	DOPT/22-23/SCP/23	Handling Court Cases	23rd ~ 25th August, 2022	3	34	SM	102
181	DOPT/22-23/SCP/24	Atma Nirbhar Bharat Abhiyan	31st Oct. ~ 2nd Nov, 2022	3	19	RM	57
182	DOPT/22-23/SCP/25	Logistics & Supply Chain	15th ~ 17th September	3	27	RM	81
183	DOPT/22-23/SCP/26	Sexual Harassment of Women at Work Place (PPR) Act, 2013	29th ~ 31st August, 2022	3	36	SM	108
184	DOPT/22-23/SCP/27	Mission Karmayogi: Karmachari to Karmayogi in Government	27th ~ 29th October, 2022	3	15	SM	45
185	DOPT/22-23/SCP/29	Office Etiquette And Behaviour For Group- D	9th ~ 11th January, 2023	3	18	SM	54
		Sponsored by - Department of Personnel & Training, Govt. of India [Trainer Development P			•		
186	DOPT/22-23/TDP/01	Direct Trainer Skills	18th ~ 22nd July, 2022	5	10	AC	50
187	DOPT/22-23/TDP/02	Mentoring Skills	29th ~ 31st August, 2022	3	24	AC	72
188	DOPT/22-23/TDP/03	Design of Training	25th ~ 30th July, 2022	5	9	AC	45
189	DOPT/22-23/TDP/04	National Training Policy	21st ~ 22nd November, 2022	2	18	AC	36
	DOPT/22-23/TDP/05	Management of Training	15th ~ 19th November, 2022	5	14	AC	70
	DOPT/22-23/TDP/06	Training Needs Analysis	27th March ~ 1st April, 2023	6	13	SM	78
151	5011/22 23/151/00	Sponsored By - Institute of Secretariat Training and Management (ISTM), New De			15	5111	
192	ISTM/22-23/01	106th Level-D Training Programme for Central Secretariat Service Officers	11th ~ 15th July, 2022	12	25	ES	300
192	ISTM/22-23/02	Village Attachment Module of ASOs (Batch-1)	9th ~ 14th Oct, 2022	6	43	AC	258
193	ISTM/22-23/02	Village Attachment Module of ASOS (Batch-2)	11th ~ 16th December.2022	6	44	AC	258
194	ISTM/22-23/04	113th Level-D Training Programme for Central Secretariat Service Officers	20th Feb. ~ 3rd March, 2023	10	16	ES	160
155	131111/22 23/04	Sponsored By - Ministry of Rural Development, Govt. of India		10	10		100
196	MORD/22-22/22	Revenue Law and Procedures for Rural Areas (Batch -II)	7th ~ 9th November, 2022	3	25	RM	75
197	MORD/22-22/28	Domestic Violence: A Social Crime and Role of SHGs (Batch-II) Old Agartala RD Block	22rd ~ 25th November, 2022	3	31	ES	93
198	MORD/22-22/28	Revenue Law and Procedures for Rural Areas (Batch -III)	7th ~ 9th November, 2022	3	17	RM	51
198	MORD/22-22/23	Revenue Law and Procedures for Rural Areas (Batch -II)	7th ~ 9th November, 2022	3	25	RM	75
200	MORD/22-22/37	Swacch Office & Management of Office of Waste	21st ~23rd November, 2022	3	6	SM	18
	MORD/22-22/40	Empowerment of Women through SHGs (B-I) Bishalgarh RD Block		3			
201			14th ~ 16th November, 2022	3	32 21	ES	96
202	MORD/22-23/03	Political Empowerment of Women in Tripura (B-I) Hezamara RD Block	17th ~ 19th November, 2022	-		ES	63
203	MORD/22-23/04	Socio-Economic Empowerment of Tribal and Rural Poor (Batch-I)	21st ~23rd November, 2022	3	34	ES	102
204	MORD/22-23/05	Atma Nirbhar Bharat Abhiyan (MoRD)	31st Oct. ~ 2nd Nov., 2022	3	14	RM	42
205	MORD/22-23/06	Computer Application for Rural Youths - Batch 1	16th ~ 18th June, 2022	3	23	AC	69
206	MORD/22-23/07	Empowerment of Women through SHGs (B-II) Bishalgarh RD Block	14th ~ 16th November, 2022	3	33	ES	99
207	MORD/22-23/08	Political Empowerment of Women in Tripura (B-II) Hezamara RD Block	17th ~ 19th November, 2022	3	31	ES	93
208	MORD/22-23/09	Youth Leadership for Sustainable Rural Development	14-16th June, 2022	3	16	RM	48
209	MORD/22-23/10	Computer Application for Rural Youths Batch 2	22th ~ 24th June, 2022	3	20	AC	60
	MORD/22-23/13	Socio-Economic Empowerment of Tribal and Rural Poor (Batch-II)	21st ~23rd November, 2022	3	32	ES	96
	MORD/22-23/14	Domestic Violence: A Social Crime and Role of SHGs (batch-I)	23rd ~ 25th November, 2022	3	30	ES	90
	MORD/22-23/17	Addressing Drugs related issues in Tripura and Role of SHGs (Batch-1)	28th ~ 29th November, 2022	3	31	ES	93
	MORD/22-23/18	Farm and Non-farm livelihood under MGNREGS-NRLM Batch - 1	30th June ~ 2nd July, 2022	3	21	RM	63
	MoRD/22-23/25	Orientation Training Programme on DFPRT 2019 & its related Amendment	23rd ~ 25th May, 2022	3	16	SM	48
	MORD/22-23/27	Computer Application for Rural Youths Batch - 3	27th ~ 29th October, 2022	3	20	AC	60
216		Computer Application for Rural Youths Batch - 4	7th ~ 9th November, 2022	3	20	AC	60
217	MORD/22-23/34	Revenue Law and Procedures for Rural Areas (Batch -IV)	17th ~ 19th November, 2022	3	28	RM	84
218	MORD/22-23/39	Addressing Drugs related issues in Tripura and Role of SHGs (Batch-2)	28th ~ 30th November, 2022	3	29	ES	87
219	MORD/22-23/40	Formulaion of Budget	5th ~ 7th May, 2022	3	14	SM	42
220	MORD/22-23/48	Cash and Accounting Procedures	27th ~ 31st May, 2022	3	17	SM	51
221	MORD/22-23/51	Access to Justice to Rural Poor	29th Nov. ~ 1st Dec. 2022	3	7	SM	21
222	MORD/22-23/52	Strengthening Capacity Building & Awareness Information on RTI-2005	2nd to 5th December, 2022	3	7	SM	21
					-	-	

213         Montpoling Ause Transmiss for Proceeding Rear Frances         Part - 4D Accenter Jourg         3         3         1         4         5           31         Montpoling Ause Transmiss for Proceeding Rear Frances         Part - 4D Accenter Jourg         3							
213MORD/22-23/06Compater Application for Anal "Youths - 4687.07.	223 MORD/22-23/59	Promoting Rural Tourism: Role of Stakeholders (Batch-1)	2nd ~ 4th December, 2022	3	30	ES	90
10001000000000000000000000000000000000000			,		-		
217Making 2::::::::::::::::::::::::::::::::::::					-		
Image: Part of the state of water of watero			•				
No.         No. <td>· · · · · · · · · · · · · · · · · · ·</td> <td></td> <td>,</td> <td></td> <td></td> <td></td> <td></td>	· · · · · · · · · · · · · · · · · · ·		,				
MIDING 22 3/34         Risk Bard Internal Audit for DD Programmel.         2nd * 22nd * 22nd Wowenber, 2002         21         20         Risk         462           MIDING 22 3/35         Development of 05 & 37 Agricultus Strategies and Programmels         27h * 28h November, 2002         2         8         8         5           21         MIDING 22 3/35         Development of 05 & 37 Agricultus Strategies and Programmels         27h * 28h April, 2002         3         8         65         1           21         MIDING 22 3/36         Lassering Salls, and Engineer Multure	228 MORD/22-23/78	Promoting Rural Tourism: Role of Stakeholders (Batch-3)	2nd ~ 4th December, 2022	3	30	ES	90
121Mon22 styleBenedpredingenesis and negativeGalor all point of the second of the se	229 MORD/22-23/93	ToT on Issues of Women, Drug Addiction, Disaster Preparation, Rural Tourism, Climate Change and Environment.	18th ~ 19th May, 2022	2	4	ES	8
Use the second transformed from the second from t	230 MORD/22-23/94		2nd ~ 22nd November, 2022	21	22	RM	462
32         NM/22 3/3/h         Ladecinp Sublia of Gender Main Streaming for Women Piolle Representatives of Panchapats of Unakott and Panchapats 2014 (2014)         72th ~ 29th April 2014         81th ~ 13th . 2022         81th ~ 13th . 2021         81th . 2021 <th< td=""><td>231 MORD/22-23/95</td><td>Development of SC &amp; ST Approaches Strategies and Programmes</td><td>27th ~ 29th November, 2022</td><td>2</td><td>30</td><td>RM</td><td>60</td></th<>	231 MORD/22-23/95	Development of SC & ST Approaches Strategies and Programmes	27th ~ 29th November, 2022	2	30	RM	60
212         New 22-303         District         271         281         6.31         38         6.35         213           31         New 22-303         Eadering Sells & Gender Main Streaming for Women Ptot West & Sepahipia         511         711 <td></td> <td>Sponsored By- National Commission for Women, New Delhi</td> <td></td> <td></td> <td></td> <td></td> <td></td>		Sponsored By- National Commission for Women, New Delhi					
234         RVW22 23/05         Leadershy Sulks Gender Mais Straming OTIAlaid Abyoa Ibritic         5th "7 Ih April, 2022         3         3         1         1         5th 3           35         NCW22 23/07         Leadershy Sulks Gender Mais Straming OTIAlaid Abyoa Ibritic         5th 1         3th 1         3         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         3         3         3         3         3         3         3         3         1         5         3	232 NCW/22-23/03		27th ~ 29th April, 2022	3	38	ES	114
234         RVW22 23/05         Leadershy Sulks Gender Mais Straming OTIAlaid Abyoa Ibritic         5th "7 Ih April, 2022         3         3         1         1         5th 3           35         NCW22 23/07         Leadershy Sulks Gender Mais Straming OTIAlaid Abyoa Ibritic         5th 1         3th 1         3         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         1         5         3         3         3         3         3         3         3         3         3         1         5         3	233 NCW/22-23/04	Leadership Skills & Gender Main Streaming for Women PR of West & Sepahijala	11th ~ 13th, 2022	3	43	ES	129
235         KW/22.23/06         eadership Sulk & Gender Man Sramming of Divation (DTMADC         311	234 NCW/22-23/05			3	27	ES	81
20         Nov22 3207         114m 23M 2007, 2327         1         2         3         3         1         3         3         1         3         3         1         3         3         1         3         1         3         3         1         3         3         3         1         3	, -,		1				-
Spensored by - National Institute of Rural Development & Panchayst & B         Number National Development from with GPD         Spensored Spensore           218         Nukl0/22-32/10         CT Application in R0 through PMS, PMAX-G and GPD         20th "31st March, 2023         3         42         ESAG.         123           238         Nukl0/22-32/10         CT Application in R0 through PMS, PMAX-G and GPD         22th "21th March, 2023         3         42         ESAG.         123           240         Nukl0/22-32/10         Management and Promotion of Farmers Producers Organization         23th "21th March, 2023         2         60         65         120           241         Nukl0/22-32/10         Savareness on Drug Abuse Prevention (Barch-1)         12th "13th January, 2023         2         90         15         180           241         Nukl0/22-32/10         Sate LevNT Training Barch         17th "14th "16th March, 2023         3         3         3         1         14th "16th March, 2023         1         42         15         42           241         NtS0/22-32/10         Sensitiaation on Provision on Transgender At 2019 (Punc: Ubalay Dirit/I)         14th "16th March, 2023         3         32         15         15           24         NtS0/22-32/10         Sensitiaation on Provision on Transgender At 2019 (Punc: Ubalay Dirit/I)         <			1 · ·		1		
318         NB0/22-23/10         CiT Application in RD through PMAS, PMAY-G and GPP         29h						-	
318         NB0/22-23/10         CiT Application in RD through PMAS, PMAY-G and GPP         29h	237 NIRD/22-23/1		25-29th April 2022	5	35	RM	175
323         Bibl/32:23/12         Convergence of Buril Deredponent programmes for Biodiversity Conservation         22/dt 271/h May, 2022         4         5         333         65         132           244         NBD/22:23/1         Managenet and formucion of Frames Produces Organization         10th *11th January, 2023         2         600         155         130           244         NBD/22:23/1         Avareness on Drug Abuse Prevention (Batch-2)         10th *11th January, 2023         2         60         155         130           244         NBD/22:23/10         Role of Technology in Knu1 Development Training         11th *15th March, 2023         3         41         4C         125           24         NSD/22:23/10         Sentilisation on Provision on Transgender At 2019 (Venue: Beining, Sunth Pripura)         14th *15th March, 2023         3         32         65         42           24         NSD/22:23/10         Sentilisation on Provision on Transgender At 2019 (Venue: Beining, Sunth Pripura)         14th 15th March, 2023         3         32         65         45         50           24         NSD/22:23/10         Sentilisation on Provision on Transgender At 2019 (Venue: Beining, Sunth Pripura)         14th 15th March, 2023         1         50         50         50         50         50         50         50         50			•				
Name         Name         State         S			,	-	-		
141         NHR0/22-33/7         Awareness on Drug Abuse Prevention (Batch-1)         10th ~ 11th January, 2023         2         600         ES         1200           243         NHR0/22-33/R         Awareness on Drug Abuse Prevention (Batch-2)         1210         121			12				
142         NBR/22-33/P         Averages for excluding in Burial Development Training         12th - 13th January, 2023         2         90         ES         130           233         NBR/22-33/P         Role of technology in Burial Development Training         14th - 16th March, 2023         3         3         7         1         5         1           244         NBS/22-23/01         State Level Training on Social Defence (Venue: Anabasa PRI), Dahal District]         14th - 16th March, 2023         1         4         5         4         2         ES         4         2         5         4         2         5         4         2         5         4         2         5			ļ,		1		
343         NIRO/22-33/9         Role of Technology in Rural Development Training         14th "16th March, 2023         3         4.0         A.C.         123           244         NISD/22-33/01         State Level Training on Social Defence [Venue: Manbassa PRI, Dhalal District]         14th "16th March, 2023         1         4.2         4.2         4.2           245         NISD/22-33/03         Sensitisation on Provision on Transgender Act 2019 [Venue: Udaipur PRIT, Gonal District]         17th March, 2023         1         4.2         4.5         4.2           246         NISD/22-33/04         Capacity Building on Provisions of Transgender Act 2019 [Venue: Udaipur PRIT, Gonal District]         14th to 16th March, 2023         3         3.2         15         15         150           248         NISD/22-33/04         Capacity Building on Provisions of Transgender Act 2019 [Venue: Udaipur PRIT, Gonard District]         11th to 16th March, 2023         1         50         15         120           248         NISD/22-33/07         Senstitisation on Provision on Transgender Act 2019 [Venue: Udaipur PRIT, Gonard District]         11th State Venue         15th March, 2023         1         50         15         50           251         MarC/22-33/07         Beant Dharshan (NE-Visito Trapur of Keala Administrative Reforms and Public Grivenance, Doct of Transgender Act 2019 [Venue: Udaipur Ansgenerent District         15th					-		
<th< td=""><td></td><td></td><td>1.</td><td></td><td></td><td></td><td></td></th<>			1.				
144         NISD/22-23/01         State Level Training on Social Defence [Venue: Ambassa PRT], Dhala District]         14th "Lifth March, 2023         13         39         PES         117           245         NISD/22-23/02         Sensitisation on Provision on Transgender Act 2019 [Venue: Udajur PRTI, Gomai District]         11th March, 2023         1         50         FS         50           247         NISD/22-23/03         Capacity Building on Provision on Transgender Act 2019 and Rules 2000 for folduation Department         9th "11th March, 2023         3         32         ES         96           248         NISD/22-23/05         State Level Training on Social Defence [Venue: Ambassa PRT, Dhala District]         14th to 15th March, 2023         3         39         ES         117           248         NISD/22-23/05         Sensitisation on Provision on Transgender Act 2019 [Venue: Udajur PRT, Gomati District]         17th March, 2023         1         42         ES         42           250         NISD/22-23/07         Sensitisation on Provision on Transgender Act 2019 [Venue: Udajur PRT, Gomati District]         17th March, 2023         1         50         ES         83           250         NISD/22-23/07         Bharat Dharban (NE-Visit to Tripura of Karla Administrative Service Offrices)         20n "5 th Noember, 2022         1         83         March         23         March			,			1	
145         NISD/22-32/02         Sensitisation on Provision on Transgender Act 2019 [venue: Udapur PRIT, Gornal Distric]         17th March, 2023         1         50         ES           246         NISD/22-32/03         Sensitisation on Provision of Transgender Act 2019 [venue: Belonia, South Tripura]         18th March, 2023         3	244 NISD/22-23/01		14th~16th March, 2023	3	39	ES	117
146         NISD/22-23/03         Sensitisation on Provisions of Transgender Act 2019 (venue: ledonis, South Tripura)         11th March, 2023         1         50         FS         90           247         NISD/22-23/04         Capacity Building on Provisions of Transgender Act 2019 and Rules 2020 for Education Department         9ht-11th March, 2023         3         3         3         2         FS         9p           248         NISD/22-23/05         State Level Training on Social Defence [ Venue: Ambass PRT ID, Dala ID Strict]         14th to 6ich March, 2023         1         42         S         50         FS         50         FS         50           250         NISD/22-23/06         Sensitisation on Provision on Transgender Act 2019 [ venue: Edeionis, South Tripura]         18th March, 2023         1         40         ES         50           250         NISD/22-23/01         Bharat Dharshan (NE-Visit to Tripura of Kertal Administrative Revice Officers)         2nd * 5th November, 202         4         8         8         96           251         STATE/IICA/22-23/01         Workshop on Sevettam         Sonsored by - Forest Department (JICA - SCATFORM Project), Govt. OT Figura         1         3         3         3         3         3         3         3         3         3         3         3         3         3         3					-		
147         NISD/22-23/04         Capacity Building on Provisions of Transgender At 2019 and Rules 2016 re ducation Department         9th"11th March, 2023         3         32         85         96           248         NISD/22-23/05         State Level Training on Social Defence [Venue: Ambassa PRT, Dhalai District]         14th to 16th March, 2023         1         42         85         42           249         NISD/22-23/07         Sensitisation on Provision on Transgender At 2019 [Venue: Udaigur PRT], Gonati District]         12th March, 2023         1         42         85         50           250         NISD/22-23/07         Sensitisation on Provision on Transgender At 2019 [Venue: Udaigur PRT], Gonati District]         12th March, 2023         1         42         85         50           250         MRG/22-23/01         Bharat Dharshan (NE-Visit to Tripura of Kerala Administrative Service Officers)         2nd ~ 5th November, 2022         4         22         ES         88           Sponsored by - nestitue of Management Inf Ord Administrative Reforms and Public Grievance, Gout - Intrav, 2022         1         4         5         AC         35           Sponsored by - nestitue of Management Inf Intrave March 2023         1         35         AC         35           Statific/A22-23/001         Livelihood and IGA including fund management INGA Pompotion (Raishyabari RD Bl				1	1		
248         NISD/22-23/05         State Level Training on Social Defence [ Venue: Ambassa PRTI, Dhalai District]         144 ht 0 16th March, 2023         3         39         ES         117           249         NISD/22-23/06         Sensitisation on Provision on Transgender Act 2019 [ Venue: Belonia, South Tripura]         13th March, 2023         1         50         ES         50           250         NISD/22-23/06         Sensitisation on Provision on Transgender Act 2019 [ Venue: Belonia, South Tripura]         2nd ~ Sth November, 2023         4         2         ES         80           250         NISD/22-23/06         Bharat Dharshan (NE-Visit to Tripura of Kerala Administrative Service Officers)         2nd ~ Sth November, 2023         4         8         KS         95           251         IMA/22-23/01         Workshop on Sevettam         Idth March, 2023         1         50         AC         5           252         IMA/22-23/01         Workshop on Sevettam         Sonored by - Forest Department (JICA - SCATFORM Project), Sort.         14th 15th April, 2022         2         48         ES         96           255         STATE/I/CA/22-3/000         Livelihood and IGA Including fund management and SHG prompotion (Laljuri RD Block)         31st March '1st April, 2022         2         2         2         55         14th         255         STATE/I/CA/22-3/00			•	3	32		
250         NISD/22-23/07         Sensitisation on Provision on Transgender Act 2019 [Venue: Belonia, South Tripura]         18th March, 2023         1         50         E5         50           Sponsored By - Institute of Management In Government, Thiruvanature         2nd ~ 5th November, 2022         4         2         2         8         8         8         8         8         8         8         8         8         8         8         8         8         5         8         8         8         8         8         8         8         8         8         9 <td></td> <td></td> <td>14th to 16th March, 2023</td> <td>3</td> <td>39</td> <td></td> <td>117</td>			14th to 16th March, 2023	3	39		117
250         NISD/22-23/07         Sensitisation on Provision on Transgender Act 2019 [Venue: Belonia, South Tripura]         18th March, 2023         1         50         E5         50           Sponsored By - Institute of Management In Government, Thiruvanature         2nd ~ 5th November, 2022         4         2         2         8         8         8         8         8         8         8         8         8         8         8         8         8         5         8         8         8         8         8         8         8         8         8         9 <td></td> <td></td> <td></td> <td>1</td> <td>42</td> <td></td> <td>42</td>				1	42		42
252         IMG/22-23/01         Bharat Dharshan (NE-Visit to Tripura of Kerala Administrative Service Officers)         2nd ~ 5th November, 2022         4         22         E5         88           Sponsored By - Department of Administrative Reforms and Public Grievances, Gov. of India           UNING/22-23/01         1         35         AC         35           Sponsored by - Forest Department (JICA - SCATFORM Project), Gov. of Tripura           254         STATE/JICA/22-23/001         Livelihood and IGA including fund management and SHG prompotion (Laijuri RD Block)         31st March "1st April, 2022         2         48         ES         96           255         STATE/JICA/22-23/003         Effective Communication Techniques, Leadership and Team Building B-1         31st Oct ~ "1st Nov, 2022         2         72         ES         58           255         STATE/JICA/22-23/003         Effective Communication Techniques, Leadership and Team Building B-1         31st Oct ~ "1st Nov, 2022         2         28         ES         56           255         STATE/JICA/22-23/004         Effective Communication Techniques, Leadership and Team Building B-11         2nd ~ "3th November, 2022         2         28         ES         56           256         STATE/JICA/22-23/005         Effective Communication Techniques, Leadership and T	250 NISD/22-23/07		18th March, 2023	1	50	ES	50
Sponsored By - Department of Administrative Reforms and Public Grievances, Govt. of India         Vertical Sponsored By - Department (JICA - SCATFORM Project), Govt. of Tripuer           253         DARPG/22-23/001         Livelihood and IGA including fund management and SHG prompotion (Laljuri RD Block)         31st March*1st April, 2022         2         48         ES         96           255         STATE/JICA/22-23/002         Livelihood and IGA including fund management and SHG prompotion (Raishyabari RD Block)         31st March*1st April, 2022         2         48         ES         96           255         STATE/JICA/22-23/002         Livelihood and IGA including fund management and SHG prompotion (Raishyabari RD Block)         31st March*1st April, 2022         2         72         EIS         144           256         STATE/JICA/22-23/003         Effective Communication Techniques, Leadership and Team Building B-II         2nd ~3rd November, 2022         2         28         EIS         566           259         STATE/JICA/22-23/005         Effective Communication Techniques, Leadership and Team Building B-II         4th ~5th November, 2022         2         27         EIS         564           256         STATE/JICA/22-23/005         Effective Communication Techniques, Leadership and Team Building B-II         4th ~5th November, 2022         2         27         EIS         562           257	· · ·	Sponsored By - Institute of Management in Government, Thiruvanantapuram		•		•	•
253         DARPG/22-23/1         Workshop on Sevettam         16th March, 2023         1         35         AC         35           Sponsored by - Forest Department (JICA - SCATFORM Project), Govt. of Tripura           154         STATE/IICA/22-23/001         Livelihood and IGA including fund management and SHG prompotion (Laljuri RD Block)         31st March^-1st April, 2022         2         48         ES         96           255         STATE/IICA/22-23/003         Effective Communication Techniques, Leadership and Team Building B-II         31st March^-1st April, 2022         2         29         ES         58           257         STATE/IICA/22-23/004         Effective Communication Techniques, Leadership and Team Building B-II         2nd ~ 3rd November, 2022         2         28         ES         56           258         STATE/IICA/22-33/005         Effective Communication Techniques, Leadership and Team Building B-II         2nd ~ 3rd November, 2022         2         28         ES         56           259         STATE/IICA/22-33/005         Effective Communication Techniques, Leadership and Team Building B-V         9th ~ 10th November, 2022         2         28         ES         56           261         STATE/IICA/22-33/005         Effective Communication Techniques, Leadership and Team Building B-V         9th ~ 10th November, 2022         2         26	252 IMG/22-23/01	Bharat Dharshan (NE-Visit to Tripura of Kerala Administrative Service Officers)	2nd ~ 5th November, 2022	4	22	ES	88
Sponsored by - Forest Department (JICA - SCATFORM Project), Govt. of Tripura254STATE/IICA/22-23/001Livelihood and IGA including fund management and SHG prompotion (Laijuri RD Block)31st March~1st April, 2022248E596255STATE/IICA/22-23/002Livelihood and IGA including fund management and SHG prompotion (Raishyabari RD Block)31st March~1st April, 2022272E5144256STATE/IICA/22-23/003Effective Communication Techniques, Leadership and Team Building B-I31st Oct ~1st Nov. 20222233566258STATE/IICA/22-23/006Effective Communication Techniques, Leadership and Team Building B-II2nd ~3rd November, 202222228E556258STATE/IICA/22-23/006Effective Communication Techniques, Leadership and Team Building B-IV7th ~8th November, 202222223E556250STATE/IICA/22-23/006Effective Communication Techniques, Leadership and Team Building B-IV7th ~8th November, 202222233E566251STATE/IICA/22-23/007Effective Communication Techniques, Leadership and Team Building B-IV7th ~8th November, 202222233E556251STATE/IICA/22-23/008Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-I)16th ~15th November, 2022228E556252STATE/IICA/22-23/010Masony Training on construction of Pig Shed9th ~11th June, 2022310E550253STATE/IICA/22-23/011 <td>· · ·</td> <td>Sponsored By - Department of Administrative Reforms and Public Grievances, Govt. of</td> <td>f India</td> <td></td> <td></td> <td></td> <td></td>	· · ·	Sponsored By - Department of Administrative Reforms and Public Grievances, Govt. of	f India				
254STATE/JICA/22-23/001Livelihood and IGA including fund management and SHG prompotion (Laljuri RD Block)31st March~1st April, 2022248ES96255STATE/JICA/22-23/002Livelihood and IGA including fund management and SHG prompotion (Raishyabari RD Block)31st March~1st April, 2022272ES144256STATE/JICA/22-30/003Effective Communication Techniques, Leadership and Team Building B-I31st Oct ~1st Nov, 20222229ES58257STATE/JICA/22-30/004Effective Communication Techniques, Leadership and Team Building B-II2nd ~3rd November, 2022228ES56258STATE/JICA/22-30/005Effective Communication Techniques, Leadership and Team Building B-II4th ~5th November, 2022228ES56259STATE/JICA/22-30/005Effective Communication Techniques, Leadership and Team Building B-IV7th ~8th November, 2022223ES56260STATE/JICA/22-30/005Effective Communication Techniques, Leadership and Team Building B-V9th ~10th November, 2022223ES56261STATE/JICA/22-30/005Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-II)14th ~15th November, 2022228ES56263STATE/JICA/22-30/101Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-II)16th ~17th November, 20222230ES56265STATE/JICA/22-30/11Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)	253 DARPG/22-23/1	Workshop on Sevettam	16th March, 2023	1	35	AC	35
255STATE/JICA/22-3/002Livelihood and IGA including fund management and SHG promptoin (Raishyabari RD Block)31st March~1st April, 2022272ES144256STATE/JICA/22-3/003Effective Communication Techniques, Leadership and Team Building B-II31st Ott ~ 1st Nov, 2022222858257STATE/JICA/22-33/005Effective Communication Techniques, Leadership and Team Building B-II2nd ~ 3rd November, 2022222856258STATE/JICA/22-33/006Effective Communication Techniques, Leadership and Team Building B-II4th ~ 5th November, 2022222856259STATE/JICA/22-33/006Effective Communication Techniques, Leadership and Team Building B-IV7th ~ 8th November, 2022222856261STATE/JICA/22-33/007Effective Communication Techniques, Leadership and Team Building B-V9th ~ 10th November, 202222265552262STATE/JICA/22-33/008Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-II)14th ~ 15th November, 202222265552263STATE/JICA/22-33/010Masonry Traing on construction of Pig Shed9th ~ 11th June, 2022310ES50264STATE/JICA/22-33/011Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-III)18th ~ 15th November, 20222228ES56265STATE/JICA/22-33/012Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-III)18th ~ 19th November, 2022<		Sponsored by - Forest Department (JICA - SCATFORM Project), Govt. of Tripura					
256STATE/JICA/22-23/003Effective Communication Techniques, Leadership and Team Building B-I31st Oct ~ 1st Nov, 2022229ES58257STATE/JICA/22-23/004Effective Communication Techniques, Leadership and Team Building B-II2nd ~ 3rd November, 2022233ES66258STATE/JICA/22-23/005Effective Communication Techniques, Leadership and Team Building B-III4th ~ 5th November, 20222228ES56259STATE/JICA/22-23/006Effective Communication Techniques, Leadership and Team Building B-IV7th ~ 8th November, 20222227ES54260STATE/JICA/22-23/007Effective Communication Techniques, Leadership and Team Building B-IV9th ~ 10th November, 2022223ES56261STATE/JICA/22-23/009Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-II)14th ~ 15th November, 2022228ES56262STATE/JICA/22-23/009Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-II)16th ~ 17th November, 2022220ES56263STATE/JICA/22-23/011Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-III)18th ~ 19th November, 2022230ES66264STATE/JICA/22-23/011Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-III)18th ~ 19th November, 2022230ES56265STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)<	254 STATE/JICA/22-23/001	Livelihood and IGA including fund management and SHG prompotion (Laljuri RD Block)	31st March~1st April, 2022	2	48	ES	96
257STATE/JICA/22-23/004Effective Communication Techniques, Leadership and Team Building B-II2nd ~ 3rd November, 2022233ES66258STATE/JICA/22-23/005Effective Communication Techniques, Leadership and Team Building B-III4th ~ 5th November, 2022228ES56259STATE/JICA/22-23/006Effective Communication Techniques, Leadership and Team Building B-IV7th ~ 8th November, 20222227ES54260STATE/JICA/22-23/007Effective Communication Techniques, Leadership and Team Building B-V9th ~ 10th November, 20222226ES52261STATE/JICA/22-23/007Effective Communication Revolving Fund Management System (Batch-I)14th ~ 15th November, 20222228ES56262STATE/JICA/22-23/009Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-II)16th ~ 17th November, 2022228ES56263STATE/JICA/22-23/011Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-III)18th ~ 19th November, 2022230ES60265STATE/JICA/22-23/011Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)23rd ~ 24th November, 2022228ES56266STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)23rd ~ 24th November, 2022228ES56266STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-I	255 STATE/JICA/22-23/002	Livelihood and IGA including fund management and SHG prompotion (Raishyabari RD Block)	31st March~1st April, 2022	2	72	ES	144
258STATE/JICA/22-23/005Effective Communication Techniques, Leadership and Team Building B-III4th ~ 5th November, 2022228ES56259STATE/JICA/22-23/006Effective Communication Techniques, Leadership and Team Building B-IV7th ~ 8th November, 2022227ES54260STATE/JICA/22-23/007Effective Communication Techniques, Leadership and Team Building B-V9th ~ 10th November, 2022233ES66261STATE/JICA/22-23/008Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-I)14th ~ 15th November, 2022226ES52262STATE/JICA/22-23/009Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-II)16th ~ 17th November, 2022228ES56263STATE/JICA/22-23/010Masonry Training on construction of Pig Shed9th ~ 11th June, 2022310ES30264STATE/JICA/22-23/011Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-II)18th ~ 19th November, 2022228ES56265STATE/JICA/22-23/011Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-II)23th ~ 24th November, 2022228ES56266STATE/JICA/22-23/012Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)23th ~ 24th November, 2022228ES56267STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)21st ~ 22nd November, 20222<	256 STATE/JICA/22-23/003	Effective Communication Techniques, Leadership and Team Building B-I	31st Oct ~ 1st Nov, 2022	2	29	ES	58
259STATE/JICA/22-23/006Effective Communication Techniques, Leadership and Team Building B-IV7th ~ 8th November, 2022227ES54260STATE/JICA/22-23/007Effective Communication Techniques, Leadership and Team Building B-V9th ~ 10th November, 2022233ES66261STATE/JICA/22-23/008Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-I)14th ~ 15th November, 2022226ES52262STATE/JICA/22-23/009Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-II)16th ~ 17th November, 2022228ES56263STATE/JICA/22-23/010Masonry Training on construction of Pig Shed9th ~ 11th June, 2022310ES30264STATE/JICA/22-23/011Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-III)18th ~ 21th November, 2022228ES56265STATE/JICA/22-23/012Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-III)18th ~ 21th November, 2022228ES56266STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)23td ~ 22th November, 2022228ES52267STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)21th ~ 22th November, 2022228ES52266STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)21th ~ 22th November, 20	257 STATE/JICA/22-23/004	Effective Communication Techniques, Leadership and Team Building B-II	2nd ~ 3rd November, 2022	2	33	ES	66
260STATE/JICA/22-3/007Effective Communication Techniques, Leadership and Team Building B-V9th ~ 10th November, 2022233ES66261STATE/JICA/22-3/008Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-I)14th ~ 15th November, 2022226ES52262STATE/JICA/22-3/009Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-II)16th ~ 17th November, 2022228ES56263STATE/JICA/22-3/010Masonry Training on construction of Pig Shed9th ~ 11th June, 20223100ES300264STATE/JICA/22-3/011Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-III)18th ~ 19th November, 2022230ES660265STATE/JICA/22-3/012Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-III)18th ~ 19th November, 2022230ES560266STATE/JICA/22-3/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)21st ~ 22nd November, 20222226ES52267STATE/JICA/22-3/014Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-2)30th Nov. ~ 1st Dec.,20222224ES42268STATE/JICA/22-3/015Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-3)2nd ~ 3rd December, 202222244548269STATE/JICA/22-3/016Community Mobilization Techniques, Ins	258 STATE/JICA/22-23/005	Effective Communication Techniques, Leadership and Team Building B-III	4th ~ 5th November, 2022	2	28	ES	56
261STATE/JICA/22-23/008Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-I)14th ~ 15th November, 2022226ES52262STATE/JICA/22-23/009Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-II)16th ~ 17th November, 2022228ES56263STATE/JICA/22-23/010Masonry Training on construction of Pig Shed9th ~ 11th June, 2022310ES30264STATE/JICA/22-23/011Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-III)18th ~ 19th November, 2022230ES60265STATE/JICA/22-23/012Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)23rd ~ 24th November, 2022228ES56266STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)21st ~ 22nd November226ES52267STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)21st ~ 22nd November, 2022221ES42268STATE/JICA/22-23/014Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-2)30th Nov. ~ 1st Dec., 2022224ES48269STATE/JICA/22-23/016Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-3)2nd ~ 3rd December, 2022228ES56270STATE/JICA/22-23/017Community Mobilization Techniques, Institution Building and Organi	259 STATE/JICA/22-23/006	Effective Communication Techniques, Leadership and Team Building B-IV	7th ~ 8th November, 2022	2	27	ES	54
262STATE/JICA/22-23/009Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-II)16th ~ 17th November, 2022228ES56263STATE/JICA/22-23/010Masonry Training on construction of Pig Shed9th ~ 11th June, 2022310ES30264STATE/JICA/22-23/011Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-III)18th ~ 19th November, 2022230ES60265STATE/JICA/22-23/012Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-V)23rd ~ 24th November, 2022228ES56266STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)21st ~ 22nd November226ES52267STATE/JICA/22-23/014Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-1)28th ~ 29th November, 2022228ES42268STATE/JICA/22-23/015Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-2)30th Nov. ~ 1st Dec.,2022228ES56270STATE/JICA/22-23/016Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-3)2nd ~ 3rd December, 2022228ES56270STATE/JICA/22-23/017Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-4)5th to 6th December, 2022225ES50	260 STATE/JICA/22-23/007	Effective Communication Techniques, Leadership and Team Building B-V	9th ~ 10th November, 2022	2	33	ES	66
263STATE/JICA/22-23/010Masonry Training on construction of Pig Shed9th ~ 11th June, 2022310ES30264STATE/JICA/22-23/011Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-III)18th ~ 19th November, 2022230ES60265STATE/JICA/22-23/012Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-V)23rd ~ 24th November, 2022228ES56266STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)21st ~ 22nd November226ES52267STATE/JICA/22-23/014Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-1)28th ~ 29th November, 2022224ES48269STATE/JICA/22-23/016Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-3)2nd ~ 3rd December, 2022228ES56270STATE/JICA/22-23/017Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-4)5th to 6th December, 2022225ES50	261 STATE/JICA/22-23/008		14th ~ 15th November, 2022	2	26	ES	52
264STATE/JICA/22-23/011Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-III)18th ~ 19th November, 2022230ES60265STATE/JICA/22-23/012Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-V)23rd ~ 24th November, 2022228ES56266STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)21st ~ 22nd November226ES52267STATE/JICA/22-23/014Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-1)28th ~ 29th November, 2022221ES42268STATE/JICA/22-23/015Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-2)30th Nov. ~ 1st Dec.,2022224ES48269STATE/JICA/22-23/016Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-3)2nd ~ 3rd December, 2022228ES56270STATE/JICA/22-23/017Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-4)5th to 6th December, 2022225ES50	262 STATE/JICA/22-23/009	Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-II)	16th ~ 17th November, 2022	2	28	ES	56
265STATE/JICA/22-23/012Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)23rd ~ 24th November, 2022228ES56266STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)21st ~ 22nd November226ES52267STATE/JICA/22-23/014Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-1)28th ~ 29th November, 2022221ES42268STATE/JICA/22-23/015Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-2)30th Nov. ~ 1st Dec.,2022224ES48269STATE/JICA/22-23/016Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-3)2nd ~ 3rd December, 2022228ES56270STATE/JICA/22-23/017Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-4)5th to 6th December, 2022225ES50		Masonry Training on construction of Pig Shed	9th ~ 11th June, 2022	3	10	ES	30
266STATE/JICA/22-23/013Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)21st ~ 22nd November226ES52267STATE/JICA/22-23/014Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-1)28th ~ 29th November, 2022221ES42268STATE/JICA/22-23/015Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-2)30th Nov. ~ 1st Dec.,2022224ES48269STATE/JICA/22-23/016Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-3)2nd ~ 3rd December, 2022228ES56270STATE/JICA/22-23/017Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-4)5th to 6th December, 2022225ES50		Livelihood, IGA & Cluster Promotion Revolving Fund Management System (Batch-III)	18th ~ 19th November, 2022	2	30	ES	60
267STATE/JICA/22-23/014Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-1)28th ~ 29th November, 2022221ES42268STATE/JICA/22-23/015Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-2)30th Nov. ~ 1st Dec., 2022224ES48269STATE/JICA/22-23/016Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-3)2nd ~ 3rd December, 2022228ES56270STATE/JICA/22-23/017Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-4)5th to 6th December, 20222ES50	265 STATE/JICA/22-23/012	Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-V)	23rd ~ 24th November, 2022	2	28	ES	56
268STATE/JICA/22-23/015Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-2)30th Nov. ~ 1st Dec.,2022224ES48269STATE/JICA/22-23/016Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-3)2nd ~ 3rd December, 2022228ES56270STATE/JICA/22-23/017Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-4)5th to 6th December, 2022225ES50	266 STATE/JICA/22-23/013	Livelihood, IGA, Cluster Promotion Revolving Fund Management System (Batch-IV)	21st ~ 22nd November	2	26	ES	52
269STATE/JICA/22-23/016Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-3)2nd ~ 3rd December, 2022228ES56270STATE/JICA/22-23/017Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-4)5th to 6th December, 2022225ES50		Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-1)	28th ~ 29th November, 2022		21	ES	42
270       STATE/JICA/22-23/017       Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-4)       5th to 6th December, 2022       2       25       ES       50	268 STATE/JICA/22-23/015	Community Mobilization Techniques, Institution Building and Organizational Behaviour (Batch-2)	30th Nov. ~ 1st Dec.,2022	2	24	ES	48
				2	28	ES	56
271 STATE/JICA/22-23/018 Livelihood, IGA, Cluster Promotion Including Revolving Fund Management (Batch-1) 7th to 8th December, 2022 2 17 ES 34			5th to 6th December, 2022	2	25	ES	50
	271 STATE/JICA/22-23/018	Livelihood, IGA, Cluster Promotion Including Revolving Fund Management (Batch-1)	7th to 8th December,2022	2	17	ES	34

272	STATE/JICA/22-23/019	ToT for JICA Trainers	10th December,2022	1	6	ES	6
273	STATE/JICA/22-23/020	Livelihood, IGA, Cluster Promotion Including Revolving Fund Management (Batch-2)	12th to 13th December, 2022	2	24	ES	48
274	STATE/JICA/22-23/021	Concept & Ways of Intersectoral Convergence (Gomati District)	12th to 13th December, 2022	2	44	ES	88
275	STATE/JICA/22-23/022	Concept & Ways of Intersectoral Convergence (North District)	12th to 13th December, 2022	2	31	ES	62
276	STATE/JICA/22-23/023	Livelihood, IGA, Cluster Promotion Including Revolving Fund Management (Batch-3)	14th to 15th December, 2022	2	33	ES	66
277	STATE/JICA/22-23/024	Formation & Nurturing of SHGs, Management of revolving fund and promotionof financial linkages (North District)	14th to 15th December, 2022	2	26	ES	52
278	STATE/JICA/22-23/025	Formation & Nurturing of SHGs, Management of revolving fund and promotionof financial linkages (Gomati District)	14th to 15th December, 2022	2	33	ES	66
279	STATE/JICA/22-23/026	Concepts and Ways of Intersectoral Convergence (South District)	16th to 17th December, 2022	2	36	ES	72
280	STATE/JICA/22-23/027	Concepts and Ways of Intersectoral Convergence (Unakoti District)	16th to 17th December, 2022	2	35	ES	70
281	STATE/JICA/22-23/028	Livelihood, IGA, Cluster Promotion Including Revolving Fund Management (Batch-4)	16th to 17th December, 2022	2	24	ES	48
282	STATE/JICA/22-23/029	Formation and Nurturing of SHGs, Management of revolving fund and Promotion of financial linkages (Unakoti District)	19th to 20th December, 2022	2	37	ES	74
283	STATE/JICA/22-23/030	Formation and Nurturing of SHGs, Managemnetof revolving fund and Promotion of financial linkages (South District)	19th to 20th December, 2022	2	31	ES	62
284	STATE/JICA/22-23/031	Livelihood, IGA, Cluster Promotion Including Revolving Fund Management (North District)	21st to 22nd December, 2022	2	19	ES	38
285	STATE/JICA/22-23/032	Livelihood, IGA, Cluster Promotion Including Revolving Fund Management (Gomati District)	21st to 22nd December, 2022	2	36	ES	72
286	STATE/JICA/22-23/033	Functioning and management of JFMC/EDC including Books and other record keeping (North District)	26th to 27th December, 2022	2	18	ES	36
287	STATE/JICA/22-23/034	Functioning and management of JFMC/EDC including Books and other record keeping (Gomati District)	26th to 27th December, 2022	2	38	ES	76
288	STATE/JICA/22-23/035	Livelihood, IGA, Cluster Promotion Including Revolving Fund Management and Cluster Promotion (Unakoti District)	28th to 29th December, 2022	2	35	ES	70
289	STATE/JICA/22-23/036	Livelihood, IGA, Cluster Promotion Including Revolving Fund Management and Cluster Promotion (South District)	28th to 29th December, 2022	2	33	ES	66
290	STATE/JICA/22-23/037	Functioning and management of JFMC/EDC including Books and other record keeping (Unakoti District)	30th to 31st December, 2022	2	33	ES	66
291	STATE/JICA/22-23/038	Functioning and management of JFMC/EDC including Books and other record keeping (South District)	30th to 31st December, 2022	2	37	ES	74
292	STATE/JICA/22-23/039	Concept and Ways of Intersectoral Convergence (Khowai District)	2nd~3rd January, 2023	1	32	ES	32
293	STATE/JICA/22-23/040	Concept and Ways of Intersectoral Convergence (Sepahijala District)	2nd~3rd January, 2023	1	26	ES	26
294	STATE/JICA/22-23/041	Formation and Nurturingof SHGs, Management of revolving fund and Promotion of financial linkages (Khowai District)	4th~5th January, 2023	2	38	ES	76
295	STATE/JICA/22-23/042	Formation and Nurturingof SHGs, Management of revolving fund and Promotion of financial linkages (Sepahijala District)	4th~5th January, 2023	2	27	ES	54
296	STATE/JICA/22-23/043	Livelihood, IGA, Cluster Promotion Including Revolving Fund Management and Cluster Promotion (Khowai District)	6th~7th January, 2023	2	38	ES	76
297	STATE/JICA/22-23/044	Livelihood, IGA, Cluster Promotion Including Revolving Fund Management and Cluster Promotion (Sepahijala District)	6th~7th January, 2023	2	26	ES	52
298	STATE/JICA/22-23/045	Functioning and Management of JFMC/EDC including books and other record keeping (Khowai District)	8th ~ 9th January, 2023	2	38	ES	76
299	STATE/JICA/22-23/046	Functioning and Management of JFMC/EDC including books and other record keeping (Sepahijala District)	9th ~ 10th January, 2023	2	26	ES	52
300	STATE/JICA/22-23/047	Concept and Ways of Intersectoral Convergence (West District)	12th ~ 13th January, 2023	2	41	ES	82
301	STATE/JICA/22-23/048	Concept and Ways of Intersectoral Convergence (Gomti WLS)	12th ~ 13th January, 2023	2	30	ES	60
302	STATE/JICA/22-23/049	Formation of SHGs, Management of Revolving Fund and Promotion of Financial Linkage for Field Facilitators (West District)	16th~17th January, 2023	2	40	ES	80
303	STATE/JICA/22-23/050	Livelihood, IGA, Cluster Development including Revolving fund management and Cluster Promotion for Field Facilitators	16th~17th January, 2023	2	29	ES	58
304	STATE/JICA/22-23/051	Livelihood, IGA, Cluster Development including Revolving fund management and Cluster Promotion for Field Facilitators	18th~19th January, 2023	2	39	ES	78
305	STATE/JICA/22-23/052	Functioning and Management of JFMC/EDC including Books and other record keeping for Field Facilitators (Gumti WLS)	18th~19th January, 2023	2	28	ES	56
306	STATE/JICA/22-23/053	Functioning and Management of JFMC/EDC including Books and other record keeping for Field Facilitators (West District)	20th~21st January, 2023	2	41	ES	82
307	STATE/JICA/22-23/054	Formation of SHGs, Management of Revolving Fund and Promotion of Financial Linkage for Field Facilitators (Gomati WLS)	14th to 15th January, 2023	2	29	ES	58
		Sponsored By - State Institute of Public Administration and Rural Development (SIPA	ARD)				
308	SIPARD//22-23/01	Gender Issues -Batch-II (Kadamtala Block)	1st ~ 3rd Aug, 2022	3	35	ES	105
309	SIPARD/22-23/03	E-Tender and Procurement	3rd ~ 5th November, 2022	3	21	SM	63

310	SIPARD/22-23/05	Presesnting Officer of Departmental proceeding cases	11th Aug, 2022	1	23	SM	23
	SIPARD/22-23/06	Training Course on e-Procurement Batch - I	2nd ~ 4th June, 2022	3	24	AC	72
	SIPARD/22-23/07	Training Course on Right to Information Batch - I	6th~8th June 2022	3	21	AC	63
	SIPARD/22-23/08	Gender Issues -Batch-I (Panisagar Block)	1st ~ 3rd Aug, 2022	3	61	ES	183
	SIPARD/22-23/10	Training Course on Right to Information Batch - II	6th~8th june 2022	3	22	AC	66
315	SIPARD/22-23/11	Presesnting Officer of Departmental proceeding cases	12th Aug, 2022	1	6	SM	6
	SIPARD/22-23/13	Computer Application for Office Management Batch - I	10th ~ 12th May, 2022	3	16	AC	48
	SIPARD/22-23/14	Mentoring and Facilitation Skills for Teachers	19th to 21st December, 2022	3	18	AC	54
	SIPARD/22-23/16	Computer Application for Office Management Batch - II	4th ~ 6th July, 2022	3	24	AC	72
	SIPARD/22-23/17	Empowerment of Women through SHGs Batch-1	23rd ~ 25th May, 2022	3	42	ES	126
	SIPARD/22-23/20	Office procedure through Tally	13th ~ 15th June, 2022	3	43	AC	129
	SIPARD/22-23/21	Role of Women in bringing about Gender Equality in Society (Dhalai District) Batch-I, Ambassa Block	10th ~ 12th August, 2022	3	55	ES	165
	SIPARD/22-23/25	Role of Women in bringing about Gender Equality in Society (Dhalai District) Batch-II, Manu Block	10th ~ 12th August, 2022	3	53	ES	159
	SIPARD/22-23/27	Transactional Analysis	14th~ 16th November, 2022	3	12	SM	36
	SIPARD/22-23/28	Role of Women in tackling drug menace (Khowai Block, Khowai District) Batch-II	16th, 17th & 18th August, 2022	3	54	ES	162
	SIPARD/22-23/30	Leadership and Decision Making	19th ~ 21st September, 2022	3	24	SM	72
	SIPARD/22-23/31	Empowerment of Women through SHGs (Batch-I) (Pecharthal Block)	4th ~ 6th Aug, 2022	3	33	ES	99
	SIPARD/22-23/36	Role of Women in tackling drug menace (Padmabil Block, Khowai District) Batch-I	16th, 17th & 18th August, 2022	3	50	ES	150
328	SIPARD/22-23/38	Officers Like Quality	17th ~ 19th November, 2022	3	11	SM	33
329	SIPARD/22-23/41	Training on PFMS	18th ~ 20th July, 2022	3	22	AC	66
330	SIPARD/22-23/42	Empowerment of Women through SHGs Batch-2	31st May ~ 2nd June, 2022	3	49	ES	147
331	SIPARD/22-23/43	Training Course on e-Procurement Batch - II	2nd ~ 4th June, 2022	3	22	AC	66
332	SIPARD/22-23/44	Empowerment of Women through SHGs (Batch-II) (Kumarghat Block)	4th ~ 6th Aug, 2022	3	49	ES	147
	SIPARD/22-23/45	Industrial Visit	30th July	1	64	AC	64
		Sponsored By - PWD(DWS) Department, Govt. of Tripura			<b>I</b>		
334	STATE/DWS/22-23/286	ToT on SBM(G)	20th May, 2022	1	8	AC	8
	STATE/DWS/22-23/001	Training Course on Faecal Sludge Management	4th ~ 6th Aprill, 2022	3	34	AC	102
336	STATE/DWS/22-23/002	Training Course on Faecal Sludge Management	27th ~ 30th Aprill, 2022	3	39	AC	117
337	STATE/DWS/22-23/035	Workshop on application of IEC/BCC on drinking water for ASHA Workerss (Gomati District- Batch -I)	27th May,2022	1	34	AC	34
338	STATE/DWS/22-23/036	Workshop on application of IEC/BCC on drinking water for ASHA Workers (Gomati District- Batch -I)	9th~10th june2022	1	46	AC	46
339	STATE/DWS/22-23/037	Workshop on application of IEC/BCC on drinking water for ASHA Workers (Gomati District- Batch -II)	6th July, 2022	1	43	AC	43
340	STATE/DWS/22-23/045	Workshop on application of IEC/BCC on drinking water for ASHA Workers (Sepahijala District- Batch -I)	16th June	1	23	AC	23
341	STATE/DWS/22-23/054	Workshop on application of IEC/BCC on drinking water for ASHA Workers (West Tripura District- Batch -I)	3rd ~ 4th June,2022	1	19	AC	19
342	STATE/DWS/22-23/055	Workshop on application of IEC/BCC on drinking water for ASHA Workers (West District- Batch -II)	23rd June, 2022	1	46	AC	46
343	STATE/DWS/22-23/056	Workshop on application of IEC/BCC on drinking water for ASHA Workers (West District- Batch -III)	30th June	1	46	AC	46
344	STATE/DWS/22-23/159	Orientation programme on SBM (G) Phase – II for PRI members/VWSC members/ASHA Workers, AWW (Gomati- Batch	28th May, 2022	1	40	AC	40
345	STATE/DWS/22-23/160	Orientation programme on SBM (G) Phase – II for PRI members/VWSC members/ASHA Workers, AWW (Gomati- Batch -II)	9th~10th june2022	1	44	AC	44
346	STATE/DWS/22-23/161	Orientation programme on SBM (G) Phase – II for PRI members/VWSC members/ASHA Workers, AWW (Gomati- BatchIII)	8th, July 2022	1	43	AC	43
347	STATE/DWS/22-23/169	Orientation programme on SBM (G) Phase – II for PRI members/VWSC members/ASHA Workers, AWW (Sepahijala Batch -I)	17th June	1	20	AC	20
348	STATE/DWS/22-23/178	Orientation programme on SBM (G) Phase – II for PRI members/VWSC members/ASHA Workers, AWW (West Tripura - Batch -I)	3rd ~ 4th June,2022	1	19	AC	19
349	STATE/DWS/22-23/179	Orientation programme on SBM (G) Phase – II for PRI members/VWSC members/ASHA Workers, AWW (West Tripura - Batch -II)	24th June, 2022	1	20	AC	20
350	STATE/DWS/22-23/180	Orientation programme on SBM (G) Phase – II for PRI members/VWSC members/ASHA Workers, AWW (West Tripura - Batch -III)	1st, July	1	37	AC	37
	l	Sponsored By- Elcetion Department, Govt. of Tripura					<b></b>
		Face to Face Training Programme of EROs and AEROs on Collection of Aadhaar data and Special Summary Revision,					
351	STATE/ELECTION/22-23/01	2023	11th Aug, 2022	1	48	AC	48
	STATE/ELECTION/22-23/02	Face to Face training programme of Election Inspector/ one official of Election Department.	12th Aug, 2022	1	57	AC	57
353	STATE/ELECTION/22-23/03	Training programme for DEOs. Dy DEOs and Branch officers of Election Department	29th ~ 30th Sep, 2022	2	27	AC	54
254	STATE/ELECTION/22-23/04	Certification Programme of ROs & AROs Batch - I	1st ~ 4th November, 2022	4	52	AC	208

255			4 + 41		10		400
355	STATE/ELECTION/22-23/05	Certification Programme of ROs & AROs Batch - II	1st ~ 4th November, 2022	4	49	AC	196
356	STATE/ELECTION/22-23/06	Training on EVM & VVPADs for DEOs & Dy. DEOs	11th November	1	27	AC	27
357	STATE/ELECTION/22-23/07	Certification Programme of ROS & AROS (Phase - 2) Batch - I	15th ~ 18th November, 2022	4	41	AC	164
358	STATE/ELECTION/22-23/08	Certification Programme of ROs & AROs (Phase - 2) Batch - II	15th ~ 18th November, 2022	4	42	AC	168
359	STATE/ELECTION/22-23/09	Training for DLMT Phase - 1 (Batch I)	29th November, 2022	1	62	AC	62
360	STATE/ELECTION/22-23/10	Training for DLMT Phase - 1 (Batch II)	29th November, 2022	1	59	AC	59
361	STATE/ELECTION/22-23/11	Training for DLMT Phase - 2 (Batch I)	30th November, 2022	1	45	AC	45
362	STATE/ELECTION/22-23/12	Training for DLMT Phase - 2 (Batch II)	30th November, 2022	1	64	AC	64
363	STATE/ELECTION/22-23/13	Certification Programme for ROs/AROs (Phase-3) Batch-1	6th~9th January,2023	4	55	AC	220
364	STATE/ELECTION/22-23/14	Certification Programme for ROs/AROs (Phase-3) Batch-2	6th~9th January,2023	4	59	AC	236
365	STATE/ELECTION/22-23/15	Hands on training of EVM & VVPATs	16th January, 2023	1	42	AC	42
	1	Sponsored By - General Administration (Administrative Reform) Department		1	1	1	
366	STATE/GA(AR)/22-23/01	Presenting Officers on Disciplinary Matters	18th ~ 19th April, 2022	2	36	SM	72
367	STATE/GA(AR)/22-23/02	Workshop on CPGRAMS Batch - 1	8th Aug, 2022	1	21	AC	21
368	STATE/GA(AR)/22-23/03	Workshop on CPGRAMS Batch - 2	10th Aug, 2022	1	19	AC	19
	-	Sponsored By - General Administration (Personnel & Training) Department, Govt. of 1	-				
369	STATE/GA(P&T)/22-23/001	Induction Training for Promoted TCS Officers Batch 1	4th ~ 27th April, 2022	15	36	ES	540
370	STATE/GA(P&T)/22-23/002	Induction Training for Promoted TCS Officers Batch 2	4th ~ 27th April, 2022	15	36	ES	540
371	STATE/GA(P&T)/22-23/003	Induction Training for Promoted TCS Officers Batch 3	28th April ~ 19th May, 2022	15	28	ES	420
372	STATE/GA(P&T)/22-23/004	Induction Training for Promoted TCS Officers Batch 4	28th April ~ 19th May, 2022	15	28	ES	420
373	STATE/GA(P&T)/22-23/005	Induction Training for Promoted TCS Officers Batch 5	20th May ~ 8th June, 2022	15	33	ES	495
374	STATE/GA(P&T)/22-23/006	Induction Training for Promoted TCS Officers Batch 6	20th May ~ 8th June, 2022	15	31	ES	465
375	STATE/GA(P&T)/22-23/007	Induction Training for Promoted TCS Officers Batch 7	9th ~ 28th June, 2022	15	37	ES	555
376	STATE/GA(P&T)/22-23/009	Induction Training for Compassionate Appontment/Benefits for Group-C	2nd~12th January, 2023	10	32	SM	320
377	STATE/GA(P&T)/22-23/010	Induction Training for Compassionate Appontment/Benefits for Group-D	9th ~ 11th January, 2023	3	18	SM	54
378	STATE/GA(P&T)/22-23/011	Induction Training for Newly Recruited Lower Division Assistant- Cum- Typist (L.D.A.C.T)	19th Jan~15th Feb, 2023	20	43	SM	860
379	STATE/GA(P&T)/22-23/012	Induction Training for Compassionate Appointment/ Benefits for Newly Recruits Group-C & D	18th ~ 20th July, 2022	13	23	SM	299
380	STATE/GA(P&T)/22-23/015	District Practical Training of IPS Officers (Probationers) of 74 RR (Batch, 2021	24th Merch, 2023	1	3	SM	3
381	STATE/GA(P&T)/22-23/013	Orientation Training for IAS Probationers of 2020 Batch	2nd ~7th May, 2022	6	4	SM	24
382	STATE/GA(P&T)/22-23/014	Induction Training for Compassionate Appointments/Benefits Group C	4th-16th July, 2022	10	49	SM	490
		Sponsored By- ICA Department, Govt. of Tripiura	· · · · · ·	•			
383	STATE/ICA/22-23/01	Workshop for Print Media-Skill Development Workshop	4th ~ 5th, July	2	59	SM	118
384	STATE/ICA/22-23/02	Workshop for Electronic Media-Skill Development for PM	11th ~ 12th July, 2022	2	59	SM	118
385	STATE/ICA/22-23/03	Workshop for Web Media-Skill Development for EM & WM	14th ~ 15th July, 2022	2	56	SM	112
	-	Sponsored By - Revenue Department, Govt. of Tripura	•	•		•	
386	STATE/REV/22-23/01	Farmers Lightning Safety ToT Programme	4th ~ 5th April, 2022	2	44	ES	88
387	STATE/REV/22-23/02	School Lightning Safety Plan ToT	6th April, 2022	1	46	ES	46
388	STATE/REV/22-23/03	Lightning Resilient Programme ToT	7th April, 2022	1	37	ES	37
389	STATE/REV/22-23/04	Prevention of Disasters due to Human Excess	6th ~ 8th June, 2022	3	57	ES	171
390	STATE/REV/22-23/05	Prevention of Disasters due to Human Excess (Bishalgarh)	13th ~ 15th June, 2022	3	55	ES	165
391	STATE/REV/22-23/06	Prevention of Disasters due to Human Excess (Padmabil)	28th ~ 30th June, 2022	3	49	ES	147
392	STATE/REV/22-23/07	Prevention of Disasters due to Human Excess (Tepania)	4th ~ 6th July, 2022	3	45	ES	135
393	STATE/REV/22-23/08	Preparation of Village Disaster Management Development Plan	29th ~ 31st March, 2023	3	99	ES	297
		Sponsored By - Tax & Excise Department, Govt. of Tripura	· · · · ·	•			
394	STATE/TAX/22-23/01	MS Excel & Tally (Batch - 1)	30th Aug ~ 3rd Sep, 2022	5	19	AC	95
395	STATE/TAX/22-23/02	MS Excel & Tally (Batch - 2)	5th, 7th ~ 10th Sep, 2022	5	19	AC	95
396	STATE/TAX/22-23/03	MS Excel & Tally (Batch - 3)	12th ~ 16th September, 2022	5	16	AC	80
	STATE/TAX/22-23/04	MS Excel & Tally (Batch - 4)	19th ~ 24th September, 2022	5	19	AC	95
		Sponsored By - Tripura Rural Livelyhood Mission					
398	STATE/TRLM/22-23/01	Orientation Training for Accountant and Account Assistant Batch-I	7th ~ 9th December, 20212	3	20	SM	60
399	STATE/TRLM/22-23/02	Orientation Training for Accountant and Account Assistant Batch- II	12th ~ 14th December, 20212	3	20	SM	60
	, , -,-	Sponsored By - Tribal Welfare Department, Govt. of Tripura					
400	STATE/TW/22-23/001	Training Course On "Tally & Busy" Software	4th ~ 8th April, 2022	5	16	AC	80
401	STATE/TW/22-23/002	SC/ST (POA) Act 1989 & Protection of Civil Right Act 55	19th November, 2022	1	38	ES	38
		Sponsored By - other Departments / Organizations		· · ·			
402	STATE/I&C/22-23/01	Workshop on PFMS	31st May	1	20	AC	20
.52			c zot may	+ <u>*</u>			

403	STATE/SW&SE/22-23/01	Induction Training for Chairpersons and Members of CWCs and JJBs	2nd ~ 4th November, 2022	3	22	ES	66
404	STATE/FED/22-23/03	Prevention of Disasters due to Human Excess (Hezamara)	21st ~ 23rd June, 2022	3	45	ES	135
405	STATE/NP/22-23/01	Entrepreneurship Development for SHGs of Jirania Nagar Panchayat	20st ~ 25th September, 2022	6	45	ES	270
406	STATE/POLICE/22-23/01	e-Procurement through GeM	28th June, 2022	1	19	AC	19
407	STATE/TRANS/22-23/01	Programme for Inauguration of School of Logistics, Waterway and Communication	11th January, 2023	1	310	SM	310
408	STATE/TRP&PGP/22-23/01	Training on PFMS	5th ~ 6th Sep, 2022	2	24	AC	48
409	STATE/AGRI/22-23/01	Induction Training of Newly Recruited Agriculture Officers	1st ~ 23rd September, 2022	21	59	RM	1239
410	ICAI/22-23/01	Double Accounting Implimentation of Double Entry Accrual Accounting System and Financial Reforms	23rd ~ 24th November, 2022	2	27	SM	54
411	MIZ/22-23/01	Bharat Darshan for 2022 batch of MCS Officers	28th ~ 29th March, 2023	3	34	SM	102
412	SIPARD/22-23/23	Land Administration and Management	17th ~ 19th November, 2022	3	20	SM	60
				1296	12343		38360

**Course Directors:** 

- ES- Dr. Elizabeth L. Sangliana, Assistant Professor
- AC- Smt Arpita Chaudhuri, Assistant Professor

SM- Smt Sudakhina Mitra, Assistant Professor

RM- Dr. Rajib Malakar, Assistant Professor